Thursday

Word, problems/investigation

Maths Group A

Mr Riddoch will explain this to you!

Calendar capers
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1. Hereis a month on a calendar. We can draw a 4 by 4 rectangle anywhere, as long as it is

around 16 numbers. Look at the red rectangle below for an example.

Mon Tues Wed Thur | Fri Sat Sun
1 2 3 4 5 =]
T a 9 10 11 12 13
14 15 | (16) | 17 | 18 19 0
21 22 23 24 25 26 27
28 29 a0 ai

2. We add the number in the top left corner to the number in the bottom right corner 7 + 31.
‘We write the total, 38.

3. Nextwe double it, i.e. 38 + 38. Write the answer, 76.
4, Circle any number in the same rectangle, e.g. 16. Cross out all the numbers in the same

row and column as your circled number.

Morn | Tues | Wed | Thur | Fri Lot Lein

1 2 3 4 5 6

7 8 B 10 11 12 13

24—t | (16) | 42 | 18 19 | 20

21 | 22 | B | 24 | 25 | 2% | 27
28 29 1o 31

5. Repeatthis, circling another number, 22 - not one that is already crossed out —then cross

out all the numbers in the same row and the same column as this circled number.

Mon | Tues | Wed | Thur | Fri Sat Sun
1 2 3 4 5 7
7 b 10 11 12 13
()| 272 | 1= 19 | 20
e 22) | FF——¢ | 5 | 6 | 77
24 J0 il
6. Repeat this process one more time.
Mon | Tues | Wed | Thur | Fri Sot Sun
1 7 3 4 5 &
| 1 b (10)] 1 | 12 13
ah L [ (6)| & [ 13 | 10 20
) | ¢ | 5 | 6 | 7
(28) | —o—t—do——ss

7. Circle the last remaining number, 10.
8. Addthe 4 circled numbers. 28 + 22 + 16 + 10. You could add two at a time to make it easier,

eg 28+22=50.16+10=26.50+ 26 =76.
What do you natice about the answers in step 3 and 87 | wonder if this always happens? Let’s

investigate other months and choose other numbers to find out..




Calendar for Year 2020 (United Kingdom)  * 4,
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You will need:
Copies of o colendor (see resources for the Inrestigation]
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